BCom(H) CBCS Semester V
Business Statistics
UPC-22417511
Attempt any 4 questions. All questions carry equal marks.

Q1. Distinguish between dispersion and skewness. The following data are given to an
economist for the purpose of economic analysis. The data refer to the length of certain types of
batteries. n= 100, £fd =50, fd*=1970, £fd*=2948, and =fd*=86752, in which d = (X-48).

Do you think the distribution is platykurtic? (3.75+10+5)

Q2. Why standard deviation is the most reliable measure of dispersion?
The mean and standard deviation of a series of seventeen items are 25 and 5 respectively. While
calculating these measures a measurement 53 was wrongly read as 35. Correct the error and
find out the correct standard deviation and mean.

(3.75+10+5)

Q3. Describe a normal distribution with a graphical sketch and state its properties. In Delhi
with 100 municipal wards, each having approximately the same population, the distribution of
corona cases in 2021 were as follows:
No of Cases 0 1 2 3 4
No of wards 63 28 6 2 1

Fit a Poisson distribution for the above.
(3.75+10+5)

Q4. ‘If all the points in a scatter diagram lie exactly on the regression line, the two variables
are perfectly correlated.” Comment.

From the bivariate data, you are given the following information:

Y(X=58) = 46, 3(X=58)> = 3086, L(Y=58) = 9, X(Y=58)" = 483, £(X=58) (Y=58) = 1095,

Number of observations = 7

You are required to determine both regression equation and coefficient of correlation between
X and Y series.
(3.75+10+5)



Q5. Briefly explain the uses of Index numbers. From the following table showing monthly

wages of workers from 2013 to 2020

Year 2013 2014 2015 2016 2017 2018 2019 2020
Wages | 150 170 200 250 320 360 380 400
Price 100 150 250 300 350 380 350 360
Indices
How much is the worth of one rupee of 2013 in subsequent years?
(3.75+7.5+7.5)
Q6. Explain briefly the various methods of determining trend in a time series.
The following table gives the profits of a concern for 5 years ending 2020:
Year 2016 2017 2018 2019 2020
Profits 1.6 4.5 13.8 40.2 125
(in €000)

Find the trend values for the years 2016-2020 using an equation of the form Y. = AB*

(3.75+7.5+7.5)
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Q1. gRggur/fages (dispersion) 3R faR@TasT (skewness) & &9 3R dgaifav]
IYF G0 & 3T & Tah IMmET # AeAfaf@a 3nes G aw & Ser
$O YR A deRAT T Fa$ A Haldd Har g1 n= 100, =fd =50, fd*=1970,

>fd3=2948, 3iX £fd*=86752, fo&# d = (X-48) &I

FIT ATl oFTAT ¢ b TAaRoT cefesies 82 (3.75+10+5)

Q2. A faadd gReqor &1 gad [9ad=a AT F47 g2

TAE aEIIT AT U WAl FT ALY IR AAh faaeled shaAer: 25 3R 5 g1 g1 Al
T IO I §T IS TH AT 53 H Ieid b § 35 Terl e F R 3R
eI Al fagee 3R Ay A1a RIS

(3.75+10+5)

Q3. AT Y@y (Ifheher THd) & TTY Teh AT fAROT FI qolad ST
3R gHS U & Seol@ HTST| feoet # 100 FRGIeR arst & ATY, Tl Hr

TAATEAT FITHIT AT g, 2021 H HRIAT AMHAT T [AAROT 9 YhR AT

ATHST 1 &1 0 1 2 3 4
arst $r g&ar | 63 28 6 2 1

3IRFT & AT T gigdd fAaor sa |
(3.75+10+5)

Q4. 'IfE v TheX NG H w3t [Nig S vl tar ) By §, ar & W @
e & agaag gl feogolt fifad|

iR 3eT @, 3R AAfARd SR & S §:



$(X=58) = 46, £(X=58)> = 3086, £(Y=58) = 9, $(Y=58)> = 483, x(X=58)
(Y=58) = 1095,

3Tdailhadl hr I&IT = 7

AR X 3R Y H@ar & @ gierHT FHERT 3R FgEEY & ONH Sl Al

AuIRa e & 3maeTEar B
(3.75+10+5)



Q5. Fashish TEAT & 3UAT &l &Y H FASSC| o1 drferrr & 2013 & 2020

g sfAer & A1 3aa & v

ay 2013 | 2014 | 2015 |2016 |[2017 |2018 |2019 |2020

adeT 150 170 200 250 320 360 380 400

#HT | 100 150 250 300 350 380 350 360

gi¢ & gyl # 2013 & Ueh T9Y & Hed fohclell g7
(3.75+7.5+7.5)

Q6. A AWl H Ygicd & uRor & fafdesr fafeat & gag &
guia i Arafaf@a arfessr 2020 & AT gl arer 5 ast &

T T gaa@rT T oOH gofid &
SIE 2016 2017 2018 2019 2020
aut 1.6 4.5 13.8 40.2 125
(000 #)

Yc = AB* & & & FHIHIUT & 3UGIET &b a¥ 2016-2020 & v vgica #Hed
EIGEEAITIY

(3.75+7.5+7.5)



